Red Challenge:

1) On Monday, a bakery gets a delivery of 3kg of flour. On Tuesday they get another
delivery of 4kg of flour. How much do they have altogether?

2) Allie mixes 50ml of apple juice with 20ml of strawberry juice. How much juice is in
her cup altogether?

3) Nia takes a £20 note to the shops. Her shopping costs £12. How much change will
she get?

4) There was 300g of sugar left in the bag. Max used 200g to bake cookies. How
much sugar is left?

5) Steve buys a sandwich that costs £1 and 50p and a pack of crisps that costs 25p.
How much did his lunch cost altogether?

6) If there are 750ml of milk in the bottle and John pours himself a 200ml glass, how
much is left in the bottle?

Yellow Challenge:

1) If there are 360g of berries in one punnet and 2509 of berries in another, how
much is that altogether?

2) There is 180ml of water in the measuring jug. 76ml is poured out. How much is
left?

3) Jenna buys a bunch of bananas for £1 and 32p and a pack of biscuits for £2 and
17p. How much does this cost altogether?

4) Alex has a ribbon that is 92cm long. He cuts off 37cm. How much is left?

5) Mike's shopping costs £14 and 38p. He pays with a £20 note. How much change
will he get?

6) There are 320L of water in a paddling pool. At the end of the day, only 282L are
left. How much water splashed out of the pool?

Green Challenge:

1) A slothis 133cm tall. A capybara is 48cm tall. How much taller is the sloth?

2) On Monday Alice ran 856m. On Tuesday she ran 448m. How far has she run so
far?

3) Elise’s shopping costs £24 and 17p. She pays with a £20 note and a £10 note.
How much change will she get?

4) Mr Lee needs to make squash for the football team. He mixes 300ml of syrup with
2L and 400ml of water. How much squash does he have?

5) Simon has 778g of flour. He uses 3209 for some cupcakes and 115g for some
pancakes. How much does he have left?

6) Sue buys a watch that costs £9 and 36p and some stickers that cost £3 and 92p.
How much will she need to pay?




